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Identify each ﬁgure as a parallelogram, rectangle, rhombus, square, or
none of these. Use all terms that apply. _
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Use the given information to classify L7TOME as a rectangle, o
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1. m/ZEOT = m/LOEM -

H In OQUED, m4.D is 30 greater than m/E. Find the measures of each of
the angles.
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1. Find the measure of ZM; £LN; LNPQ; £Q. / LNPQ= 115° L= A
2. Find the length of side MN; NP; OM. ol 65° MN=10 NP =1 M=
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3. If W =ER, mLW=2x+§§, andm£LE=7x— 15, ] %= [4
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Identify each figure as a parallelogram, rectangle, rhombus, square, or ) 7 )gu )gL(ﬂ 2)
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